m B Al B K S IE R

(B750)
o % B BE(Ke) R B & B E(%) FHEE
1 x ¥ ~ Y 346, 153 145 3 43, 056, 533 6.4 124
2 = L - A 268, 826 1.3 8 29,001, 672 4.3 108
3 |k ~ ~ 231, 668 10.0] 1 88,112,578 13.1 3N
4 = ES el =3 210, 8717 8.9 2 63, 163, 045 9.4 300
5 ¥ h W L & 169, 320 .1 4 38, 709, 382 5.8 229
6 (& < & (A 135, 340 o.7| 16 12, 385, 505 1.8 92
1 & w 3 Y 104, 068 4.4 17 31,268, 7817 4.7 300
8 | & El 94, 435 4.0/ 6 31, 879, 690 4.8 338
9 I A C A 86, 355 3.6 17 12, 149, 920 1.8 141
10 U 3 A 83, 233 3.5 12 17,458,977 2.6 210
(AR - =3 15, 384 3.2/ 10 24,113, 521 3.6 320
12 A L & 68, 345 29/ 1 20, 989, 012 3.1 307
13 E — = v 62, 680 2.6 5 34,049,170 5.1 943
4 = = F~ < F 45, 021 1.9 9 217,518, 820 4.1 613
IFE 5 A £ 35 30, 442 1.3 13 16, 680, 053 2.5 548
16 | Z (F 3 21,363 1.1 29 4,552, 060 0.7 166
17 /72 o0y a3 ) — 25,002 1.1 20 9,870, 140 1.5 395
18 |2 5 23, 941 1.0 15 12,753, 861 1.9 033
vz o & £ T 23, 807 1.0 27 4,802, 087 0.7 202
20 | A [F 5 * 19,522 0.8 28 4,643,913 0.7 238
21 | » A 18,929 0.8 35 2,845,510 0.4 150
22 | L & C 18, 471 0.8 21 9,569, 287 1.4 518
23 | C ES D 3 18, 158 0.8 24 6,015, 851 0.9 331
24 I= + @ - 14, 389 0.6 23 6, 758, 208 1.0 470
2% £ L W = 7 13,136 0.6 18 10, 566, 957 1.6 804
26 & MW &3 13,025 0.5 31 4,165, 839 0.6 320
21 | 7z & - 11,028 0.5 32 3,989, 674 0.6 362
2 Friy Y Aa 8,402 0.4 38 2,520, 558 0.4 300
29 | S < 8,252 0.3 26 4,973, 745 0.7 603
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(%)

o % B BE(Ke) [WEG B & #E E(%) FHRE
0 | b [+ E 8,248 0.3 33 3,996, 778 0.5 436
3117 A N 5 A R 8,238 0.3 14 12,993, 482 1.9 1,571
2 | F ES 3 AN 1,714 0.3 36 2,581, 443 0.4 335
B WL 1) — 71,490 0.3 39 2,492, 964 0.4 333
3 L & 5 M & 6,515 0.3/ 25 9,959, 114 0.9 915
3% I A I < 6, 403 0.3 22 1,255, 656 1 1,133
36 | A E 6,007 0.3 37 2,539,729 0.4 423
37 | & & H =x 4,900 0.2 41 1,920, 987 0.3 392
38 A 2 E &t 4,295 0.2 46 1,480, 237 0.2 345
39 | E — A 4,042 0.2 30 4,536, 410 0.7 1,122
0L v A T K 3,431 0.1 45 1,613, 692 0.2 470
41 X £ 3,147 0.1 19 10,512, 289 1.6 3,340
42 | = & Ly &3 2,966 0.1 48 1,132, 402 0.2 382
8B1AH UV 7 I T — 2,560 0.1 60 966, 460 0.1 221
4 h A - A 2,560 0.1 34 2,869, 894 0.4 1,121
4% % ) F O 2,034 0.1 47 1,211,954 0.2 096
46 | W b h 1,857 0.1 61 961, 762 0.1 303
47 7 7 1,743 0.1 43 1,831,248 0.3 1,051
8 H v B X 1,732 0.1 58 719, 602 0.1 415
49 Y 1,586 0.1 50 986, 148 0.1 622
50 /N t ) 1,456 0.1 57 138, 504 0.1 507
o1 X | 1,444 0.1 40 2,028, 462 0.3 1,405
52 & v 2 A E S 1,248 0.1 44 1,680, 350 0.3 1,346
58 v F o W 1,204 0.1 54 865, 080 0.1 719
4 | F W= [+ 1,093 0.0 56 151,751 0.1 693
9 | by A F A 180 0.0 92 919,171 0.1 1,178
% A & S5 T W 684 0.0 64 173, 232 0.0 253
51 | & 2 620 0.0 42 1,902, 377 0.3 3,068
8 | H ES 3 ) 004 0.0 49 1,061, 640 0.2 2,106
59 I A I < F 374 0.0 62 348, 624 0.1 932
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(%)

o % B BE(Ke) [WEG B & #E E(%) FHRE
60 D [+ A 373 0.0| 65 173, 080 0.0 464
61 | T ¥ ¥ L v 335 0.0 59 578, 210 0.1 1,726
62 a 2 5 A 316 0.0 67 154, 006 0.0 487
63 LLES N L 296 0.0 53 881, 064 0.1 2,977
64 X v Ya)l— L 279 0.0 63 299, 288 0.0 1,073
65 1= ) D 3F 208 0.0 51 949, 148 0.1 4,563
66 A — 7 3] 183 0.0 55 797, 637 0.1 4,359
67 D ES x 111 0.0 72 19, 796 0.0 178
68 £ O A~ A4 ¥ 37 0.0 68 66, 096 0.0 1,786
69 | L e 36 0.0 66 169, 366 0.0 4,705
0 |\ El %A 17 0.0 M 46, 008 0.0 2,706
n b ) [0 17 0.0, 70 50, 220 0.0 2,954
12 Z 1= ES & 12 0.0, 73 8,087 0.0 674
13 | H = [0 5 0.0/ 69 51,786 0.0 10, 357
14 & 5 N B L 3 0.0, 74 4,319 0.0 1,440
H B H ) 1 0.0 75 3,024 0.0 3,024
1 TODMEEXEHE 10, 537 0.4 2 2,583, 261 0.4 245
2 | 0 M B % 3, 301 0.1 4 1,591,078 0.2 482
3 T EDILE 2,531 0.1 3 1, 836, 460 0.3 126
4 FTDMEEZEDODEMEE 1, 460 0.1 1 2,830, 504 0.4 1,939
5 ' o £ ¥ #E& 1,396 0.1 6 413,532 0.1 296
6 = O fh B FE 888 0.0 5 506, 725 0.1 571
7 F 0O #h B E £ 35 0.0 7 62, 586 0.0 1,788

g x H 2, 380, 830 100.0 670, 537, 084 100.0 282
(B=)

o & = HE(Kg) WE% FH & B LLE (%) FHEE
1 w5 Z H 169, 809 19.0 1 183, 138, 362 38.3 1,078
2 | A R 138, 294 15.4| 5 28,919, 397 6.0 209
3 | 7 Ly h 108, 047 12.1) 2 45, 745, 506 9.6 423
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(R%)

o % B BE(Ke) [WEG B & #E E(%) FHRE
4 Y A Z H 101, 050 1.3 3 38,578, 259 8.1 382
5 | A B v H 44,887 5.0/ 4 36, 090, 641 1.5 804
6 E i: | | 38, 627 4.3 1 6, 856, 380 1.4 178
1 NLOITHLID 17,976 20 6 1,973, 415 1.7 444
8 3 e) & < 10, 262 1.1710 2,838, 445 0.6 271
9 TJL=TIL—-Y 10,013 1.1 12 2,329, 236 0.5 233
10 KN4 27y TN 8,995 1.0 13 2,245, 251 0.5 250
11 o471 —-Y 1,168 0.8 8 9, 549, 736 1.2 174
12 | L £ v 0,284 0.6/ 11 2,414,459 0.5 457
B3 & ™ A & 2,991 0.3 9 9,228, 496 1.1 1,748
14 | 5 A = A 2,210 0.2/ 15 406, 404 0.1 184
B 5 & > B 925 0.1 17 198, 504 0.0 378
16 | & 3 & 3 225 0.0 14 1,722,762 0.4 7,657
17 v o) 130 0.0/ 16 346, 248 0.1 2,663
T2 o it B 8 223,900 25.0 1 103, 739, 292 21.17 463
2 ZTOMBHFERFTRE 0,064 0.6/ 2 3,377,808 0.7 667
3 o f# R = 044 0.1 3 475,762 0.1 875

e = H 896,001 | 100.0 478,174,369 | 100.0 034
(S50, MT &)

o % H #E(Kg) RO ZH & # (%) TRIHE
T % © L 29, 340 45. 7] 1 3,549, 698 16.5 121
2 5 H 8, 269 12.9) 2 2,550, 440 11.9 308
3 =T O MmI & 1,320 2.1 3 1,224 3.6 084
4 ' 2 A 12 » ( 1,180 1.8 6 296, 265 1.4 251
5 o I & o G 823 1.3 4 456, 441 2.1 555
6 3 e & 3 275 0.4/ 7 161, 662 0.8 588
7 = XK = 262 0.4/ 5 321, 635 1.5 1,228
8 | & 2 4 21 0.0 9 40, 608 0.2 1,504
9 o F £ W 2 A 19 0.0/ 10 39, 208 0.2 1,853
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(B5R, NI &)

o % B HE(Ke) HEO TH & () TR
0 » A £ 5 LV % 17 0.0/ 8 44,712 0.2 2630
mi+ L W f= ¥ 4 0.0 11 30, 315 0.1 7,519
1 ZTofmIRE 18,558 28.9 1 10, 659, 934 49. 6 574
2 | O m I & 2,165 3.4 2 1,002, 228 4.1 463
3 Z 0O fhn T ¥ xE 1,485 2.3 3 774,804 3.6 522
4 T OMERERE 330 0.5 4 665, 604 3.1 2017
9 T 0 FREH X 161 0.3 5 145, 584 0.7 904

EW. MI&ST 64,235 100.0 21,506,362 | 100.0 335
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